
λ20 = −0.39966 |ψi|

1 AVAL 0.040246

2 AVAR 0.036434

3 DVB 0.033124

4 AS11 0.030851

5 AVL 0.025422

6 VB09 0.023665

7 AS09 0.020424

8 VA09 0.01795

9 ALML 0.016135

10 PDA 0.015895

11 PVM 0.014785

12 AVBL 0.014772

13 RID 0.014433

14 PDB 0.014016

15 BDUR 0.013834

16 PVNL 0.013755

17 AVM 0.013687

18 VA12 0.013494

19 RMGL 0.012594

20 VB08 0.012543

λ20 = −0.39086 + 0.013051i |ψ∗

i
|

1 VD06 0.038222

2 VA09 0.031612

3 DD02 0.026883

4 DD01 0.026471

5 DA02 0.026432

6 VD07 0.024992

7 VD04 0.023766

8 AVAR 0.022532

9 VD02 0.020158

10 AVAL 0.019184

11 VA08 0.017728

12 VA06 0.016478

13 DA01 0.014466

14 RIBL 0.014412

15 DA09 0.01422

16 DA03 0.013938

17 VB05 0.013906

18 VD03 0.013645

19 DVC 0.01342

20 PVPR 0.013417
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